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Subject Biology
Class 11
Topic Name Human Physiology

Digestion and Absorption

1. If for some reason our goblet cells are non-functional, this will adversely affect
1. 3R TR HROT & EANY TMTeeic FITRNFIT F1H T X T 8, AT SHHAT Tlhel THIT T
(2010)

A. maturation of sperms / [ShTIT3T shr ARG

B. secretion of sebum from sebaceous glands / T@TAT FTATT T Ve T T1T

C. production of somatostatin / FIHCIECTEA T ScaTC

D. smooth movement of food down the intestine / 31Td o ={I<I HISTeT I qar® ity

2. Two friends are eating together on a dining table. One of them suddenly starts coughing while
swallowing some food. This coughing would have been due to improper movement of

2. & fAT T Ty WA T A T ISl X @ 81 348 § Ueh Al $O G AT THI 37elleTeh WY 3T 97l 81 T8
QI & e eIt Ferefel & HROT LT g1afT

(2011)

A. neck / IRGs

B. tongue / SITH

C. diaphragm / STITHIA

D. epiglottis / TRwdfeTm

3. One of the constituents of pancreatic juice that is poured into the duodenum in humans is
3. AT H TGUTT # 3Tel STt aTel 3TATRY IH & Tl H A Th ¢

(Mains 2011)

A. trypsin / fefCast

B. chymotrypsin / FEAIf¢ ot

C. trypsinogen / f¢fea=ttatet

D. enterokinase / Teifhad

4. Where do certain symbiotic microorganisms normally occur in the human body?
4. AT R A FS Fgild! GEANT HHAIT: el UTT ST &2

(Mains 2012)

A. Duodenum / g3IS=H

B. Tongue surface and oral lining / 57 T @dg 3R Af@F )

C. Rectum and vermiform appendix / FeTRRT 3R giwie aRfRrse

D. Caecum / é@?

5. A healthy person eats the following diet — 5gm raw sugar, 4 gm albumin, 10 gm pure buffalo ghee
adulterated with 2 gm vegetable ghee (hydrogenated vegetable oil), and 5 gm lignin. How many
calories is he likely to get?
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5. Th TaEY eGfed Aeiaf@d 3R Widl § - 5 AT Fedl e, 4 TH Tesg[ A, 10 TTH Yy A o1 o 2 71
FAEdTl €Y (BTS3IoTaliehd deieuid der) 3R 5 M fAFeteT & a1 fAeae | 38 fociel el ffere) s F8Taa 82
(NEET 2013)

A. 144

B. 112

C. 164

D. 126

6. The initial step in the digestion of milk in humans is carried out by
6. HITd H G & UTleT o1 TR T37eh TROT fohdieh ST fohalT STl 2

(NEET 2014)

A. pepsin / 9fCHeT

B. trypsin / fcfoaeT

C. rennin / IfeleT

D. lipase / e8ud

7. The primary dentition in human differs from permanent dentition in not having one of the
following types of teeth

7. [T IR & gial & & IS Teh 181 glel o HRUT AT H IrIfHe gid TURN g & e grar g

(NEET 2015)

A. Premolars / 95&eT

B. Molars / #leid

C. Canines / &aTseq

D. Incisors / hedeh

8. Which hormones stimulate the production of pancreatic juice and bicarbonate?
8. FieT T gTATT 79T I 3R TSHIEAT & 3cUTesT ol 3afold i 62

(NEET-II 2016)

A. Insulin and glucagon / $gfelet 3R Te[hrareT

B. Cholecystokinin and secretin / SleldIEc fohfelel 3 TshceT

C. Gastrin and insulin / AT 3R sgﬁ?—r
D. Angiotensin and epinephrine / Tfa @A 3R viashie

9. A baby boy aged two years is admitted to play school and passes through a dental check-up. The
dentist observed that the boy had twenty teeth. Which teeth were absent?

9. &I FTel T 3H & Teh e i Tol Teho! A 7l AT ST & R & R S & Irorar &1 & MRifshcas = &@r i
o1Seh & o1 &1 A FleT § &iet ey A2

(NEET 2017)

A. Incisors / hedeh

B. Premolars / Y&

C. Molars / Ao s

D. Canines / FAseq

10. Which cells of “Crypts of Lieberkuhn” secrete antibacterial lysozyme?
10. "fShTeH HIh ToleRehe=" I HieT TN HIRNAIT SHATURTEN ATSAISTSH T HTT Il &2
(NEET 2017)

A. Argentaffin cells / 3TSiCIATIhe hITRARTT
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B. Zymogen cells / STSHTSIeT ShITARIT
C. Kupffer cells / SFHT FHIfRAHIT

D. Paneth cells / Forer ARG

ANSWER KEY
1-D 2-D 3-C 4-D 5-A
6-C 7-A 8- B 9-B 10-D

Breathing and Exchange of Gases

1. Pick the incorrect statement.

1. I YT el

(2006)

A. the presence of non-respiratory air sacs increases the efficiency of respiration in birds / IX-2aHeT aTgehIuT
suftufa of@ral 7 eade & sTAaT &l Jerd &

B. the residual air in the lungs slightly decreases the efficiency of respiration in mammals / %%3I # 31afarse arg
TALTRAT & QT &TFAT Y AT el T ST &

C. the principle of counter current flow facilitates efficient respiration in gills of fishes / WWWNW
HSTOET o ITThsT H 3T WGHeT hT AT TeTel Il &

D. in insects, c1rculat1ng body ﬂulds serve to distribute oxygen to tissues / 13T 7, IREART TRR F Al I&TT Fhi
I TerdTote fadRd et T A AT &

2. The hemoglobin of a human foetus

2. AT 0T I FrATl T

(2009)

A. its affinity for oxygen is the same as that of an adult / 3TeETSTeT & foIT SHHT IHTHIAT Ueh TTTH & THATA &

B. has a lower affinity for oxygen than that of an adult / T gI%h &1 SEEL H 3iTFdIeteT & foIT S IcATaT I@aT g
C. has a higher affinity for oxygen than that of an adult / Teh aa&h @f delar H 3TFeteT & forw 31 3meezrar
@drg

D. has only 2 protein subunits instead of 4 / 4 & ST shdel 2 T HIGfIC BT &

3. What is true about RBCs in humans?

3. HeIsat H RBC & X H o7 AT £7

(2010)

A. they transport about 80% oxygen only and the rest 20% of it is transported in the dissolved state in blood
plasma / & ShdeT ST 80% 3iTFLISTel T IRTEA i & 3R AT 20% Wwﬁuﬁﬁmﬁrqﬁmm%

B. they transport 99.5% of 02 / @ 02 FT 99.5% TRdgA P &

C. they carry about 20-25% of CO2 / @ CO2 T ST3THIT 20-25% of ST o

D. they do not carry CO2 at all / 3s7& CO, Wﬂé’rgﬁ’r%

4. Bulk of carbon dioxide (CO2) released from body tissues into the blood is present as
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4. A & St T T&d H OIS T H1ee SIS3FASS (CO2) & A & & 7 AlSlG &

(Mains 2011)

A. carbamino-hemoglobin in RBCs / 3RERIT 3 HISTTHAT-G ATl ot

B. 70% carbamino-hemoglobin and 30% as bicarbonate / 70% FTETHAAI-gIAITANST 3R 30% STSHIE AT b & 3
C. free CO2 in blood plasma / & CATHT H FeFd CO2

D. bicarbonate in blood plasma and RBCs / IT*T-T TATSHT 3R RBC H ST8haiee

5. A large proportion of oxygen remains unused in the human blood even after its uptake by the
body tissue. This O2

5. FTA T H JHTFHISTeT T Teh 9T REAT QR o Siefehl GART AEVT T ST o dTe; 81 e @il ¢ | TE 02

(2011)

A. helps in releasing more O2 to the epithelial tissues / 3Tehell Zctehl I 31T8H 02 HFd Il H AGG Pl o

B. is enough to keep oxyhemoglobin saturation at 96% / 3TFHIEIAT IS qdfed # 96% T IWA & forT AT g

C. raises the pCO2 of blood to 75mm of Hg / I&d & pCO2 &I 75mm Hg de Erc.!T garg

D. acts as a reserve during muscular exercise / 9213 ITITH & ST 3TRTETT o & H I FAT

6. People who have migrated from the planes to an area adjoining Rohtang pass about 6 months
back

6. S ST FIATAT & AgeT § A FelTeh 7 =T} 97T &, I HS 6 FGIoA Igel ol o

(2012)

A. are not physically fit to play games like football / Peslel S Tel Wolel o [T AR e & T €T 8T &

B. have more RBCs and their hemoglobin has a lower binding affinity to O2 / 37789 RBC 81 & 3iR 37 g1ATalaeT
T 02 T FHe STETHRT T &l &

C. have the usual RBC count, but their hemoglobin has very high binding affinity to O2 / RBC &I H1HT &I gidr
&, elfeheT 357h EIAITCTST 7 O2 o HTY Fgdf 3Teeh STEAHNT T el &

D. suffer from altitude sickness with symptoms like nausea, fatigue, etc / Hdell, Ul 31T FT ALTUN & TTY FATS
Hr A § N3 &

7. Approximately 70% of carbon dioxide absorbed by the blood will be transported to the lungs
7. {&Fd GaRT AT HTeleT STSIHTFATSS HT SAITHIT 70% BHS! H of SAT ST

(2014)

A. as carbamino hemoglobin / FHIETTHAT grAT AT oh & &

B. by binding to R.B.C / R.B.C ¥ 3Tecy glax

C. in the form of dissolved gas molecules / EI‘%IT—T T 3-TUT3-ﬁ FETH

D. as bicarbonate ions / STS&TElsIe =T ﬁ? ®qH

8. Name the chronic respiratory disorder caused mainly by cigarette smoking
8. 7ET &7 { THIRE Gt A glet aTel ST 258+ fdehR 1 ATH SdrsT

(NEET -1 2016)

A. Respiratory Alkalosis / 28T &TRHAIAI

B. Respiratory Acidosis / Yater vfasifaa

C. Asthma / 37&JHAT

D. Emphysema / araehifa

9. Lungs do not collapse between breaths and some air always remains in the lungs which can
never be expelled because

9. Tl & &I Bhs g Bed 3R BhsT & FHo §aT gAM WGl ¢ T 3l 16T 8T [ehTell ST Hehell FiTeh
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(NEET - 11 2016)

A. there is a positive intrapleural pressure / Teh HhRIcHD 3d:HTdT Go1d §

B. there is negative intrapleural pressure pulling at the lung walls / B3I &l SIdRT I FAhRTcHh T ATl gaTd G
w@IE

C. there is negative pressure in the lungs / B%aT & ABRIcHSD &aTd BIcT &

D. pressure in the lungs is higher than the atmospheric pressure / B%Haf H gard a@ﬂg?»ﬁ'zr caa & s giar g

10. Lungs are made up of air-filled sacs, the alveoli. They do not collapse even after forceful
expiration, because of

10. H%s gaT § I Aol TleadTel & 91 8l § | STl TrddRRT & &g #ff A 781 ged, il

(NEET 2017)

A. expiratory reserve volume / 2381 3R &I ATET

B. inspiratory reserve volume / $f€aedt Reia EIEIJWI‘:FT

C. residual volume / 3/afRrse #HTAT

D. tidal volume / SARIT 3AclsT

ANSWER KEY
1-D 2-C 3-C 4-D 5-D
6-B 7-D 8- D 9-B 10-C

Body Fluids and Circulation

1. Adult human RBCs are enucleated. Which of the following statement(s) is/are the most
appropriate explanation for this feature?

1. TIEH Al IR Heldel § | FAeATaf@a # @ et ar/8 F20 58 fAvar & fov Ted 3uged Tasdianior g?
(NEET 2017)

A. They are somatic cells / I &Tgeh HITRAHIT &

B. They do not need to reproduce / 3=¢ JeT: UM ol T ITARTT 6T

C. All their internal space is available to transport oxygen / 3eTehT ART TR TUTT HFHSTT & IRAg & ol
3qeleH §

D. They do not metabolize /  TITITT sTgT I o

2. Name the blood cells whose reduction in number in cause clotting disorder, leading to excessive
loss of blood from the body

2, 3o7 TFd PIAFIHT FT ATH Td1ST foreTehT TE&AT 3 FHHT & HROT Falifedr RT3 gar g, THad ¥R & 3rcafs &d
I gTfeY il &

(NEET-II 2016)

A. thrombocytes / dFaIASCH

B. erythrocytes / TRUASCH

C. Neutrophils / E@'ﬁm

D. leukocytes / sgehIATSCH
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3. Serum differs from blood in lacking
3. URH ToT T el A I gl &
(NEET-II 2016)

A. antibodies / TEETar

B. clotting factors / FellTcdT R

C. albumins / TegfAa

D. globulins / Fellsgfolet

4. Blood pressure in the pulmonary artery is

4. PFGHT THAT 7 AT §

(NEET-I 2016)

A. more than that in the carotid / #Ifes & 394 37+

B. same as that in the aorta / IgT HETUHAT &

C. less than that in the venae cavae / o1 1d H 398 HH

D. more than that in the pulmonary vein / $FpH T A 398 HfAw

5. This blood vessel in mammals would typically carry the largest amount of urea
5. TATLTRE 3 8 T arfeent ¥ 3MACI 9T IRAT ¥ Tt T2 AT e &

(NEET-I 2016)

A. Dorsal aorta / Y81 HeTeH=AT

B. Renal vein / geh o

C. Hepatic portal vein / g9 arcer RRT

D. Hepatic vein / leﬁfil'\'T

6. Doctors use a stethoscope to hear the sounds produced during each cardiac cycle. The second
sound is heard when

6. T TCA Tk & GINIeT 3cTed GIol Aol LATeIAT &l ool & ToIU SidFey TCUEDIT T ST &t § | G 1Tt e

Gels &l § 51

(2015)

A. Semilunar valves close down after the blood flows into vessels from ventricles / df¢cehed & aTfghI3iT H IFd
yaTfed g1t & TG RIFACE aTed &g &1 A1 §

B. AV valves open up / AV dTed Ej)?—l?r g

C. Ventricular walls vibrate due to gushing in of blood from atria / foerr &I &rart 3eRAT & IFd & Yarfed gt &
HROT YT Il &

D. AV node receives signal from SA node / AV IS SA 78 & Hobcl ITCd T ¢

7. Person with blood group AB is considered a universal recipient because he has

~. {&Fd 991 AB Tl T ! ATIHITHS SrcdendT ATAT SITdT § Fifeh 396 Ta &

(2014)

A. both A and B antigens in the plasma but no antibodies / TolTeHT H T 3R &Y Il UEToTel olfchel g TEISIaT Agl

B. both A and B antibodies in the plasma / Tllo#HT # A 3R B glsir gfaRadr

C. no antigen on RBC and no antibody in the plasma / 3TRERIT 0X HIS VeIl el AR ColloHT H DIs TCIalar aTar

D. both A and B antigens on RBC but no antibodies in the plasma / RBC X A 3R B &Il TEISTa oifehel ColToAT H I
TSI T

8. How do parasympathetic neural signals affect the working of the heart?
GfAFIATEe sgTel TTeTer T i HRATUT I & FeTad Hd 62 (2014)
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(2014)

A. both heart rate and cardiac output increase / g&3 3Tfct 3R EFI%?JIE 33eYe alel A gefar gidr g

B. reduce both heart rate and cardiac output / g€ 31T 3R FIfETew IM3TIE " aYell S et Y

C. heart rate is increased without affecting the cardiac output / &1 Isqah 3m3eqe &1 gHTIad fohu foar gea a1fd g
I N

D. heart rate decreases but cardiac output increases / g&3 31t Ha &I ST & et IfST 3 I3CYC §¢ SiTcl g

9. A certain road accident patient with an unknown blood group needs immediate blood
transfusion. His one doctor friend at once offers his blood. What was the blood group of the
donor?

9. Th 3731 ToFcl Heg dTel Seh GucaT I3 &l Teehlel T T I ATl BIcll & | 3HHT Teh Siehe [T Tl
37T T TG Sl 8| S1eX I soIS U T UT?

(2012)

A. Blood group AB / I&d HHg AB

B. Blood group O / T&d d@#g O

C. Blood group A / 3&d §Hg A

D. Blood group B / T&d d#g B

10. Which one of the following plasma proteins is involved in the coagulation of blood?
10. TIFT # T et AT CATSHT NETT IFd o STHTG H A giar g?

(2011)

A. Fibrinogen / ®wisfsairate

B. Serum amylase / ¥R THATS el

C. Globulin / elteg el

D. Albumin / Teq

ANSWER KEY
1-C 2-A 3- B 4-D 5-D
6-A 7-D 8- B 9-B 10-A

Excretory Products and their Elimination

1. This amongst the following correctly explains the function of a specific part of the human
nephron

1. I AT 7 & AT A% & Ueh TATRIST H19T & I FHT FET cATEAT T &

(Mains 2011)

A. Afferent arteriole — carries blood away from glomerulus towards the renal vein / 3fRargr adAfAdT - T&Fd &t
TolAT T H gereh TR T 3N of SiTell &

B. Distal convoluted tubule — reabsorption of K+ ions into the surrounding blood capillaries / qI&I ATICR o IGER

- Ko+ 3T T JTEYTH T Tebcl ShiRIRI3T # JoT: 37aRiyor
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C. Henle’s loop — most reabsorption of the major substances from the glomerular filtrate / gsTel o7 - T AT
foee & v yerdf &1 Fad 31fRreh qeasfasior

D. Podocytes — create minute spaces for filtration of blood into the Bowman’s capsule / SSIAT8CH - SlFT W H
Fd & fATdesT & T fAsde Red T s=v

2. This is not part of a renal pyramid
2. Ig JeFeh TORTTAS 1 81197 =TT &

(Mains 2011)

A. Loop Of Henle / o9 3T geTol

B. Convoluted tubules / GATIER #ATIhTT

C. Collecting ducts / sTfere13il T T8

D. Peritubular capillaries / ﬂww

3. This is a common characteristic observed in both human beings and adult frogs
3. TE U AHY fARAVAT & St HefsF 3R a2 e Heeh alal 7 S el §

(Mains 2012)

A. ureotelic mode of excretion / ﬂﬂﬁ'r%?ﬁ 3cgoteT T e

B. internal fertilization / 3R fv=eT

C. nucleated RBCs / #gfeFel¢s RBCs

D. four-chambered heart / IR-H&NT g6

4. A fall in glomerular filtration rate (GFR) activates

4. TARGR e & (SNUH3TR) H FR1ae Gfoha g1 Siell &

(Mains 2012)

A. posterior pituitary to release vasopressin / 3G 8T STRT el o ToIT gATAT ﬁﬂ\'ﬂ@ﬂ'
B. adrenal medulla to release adrenaline / U3sTol ﬁg?»lT TSATATS A STRT ] o folT

C. juxtaglomerular cells to release renin / YT STRY et & T STFACFATATER HITARIT
D. adrenal cortex to release aldosterone / 3if&gereh STe& T TeRIESIeT ST et & farw

5. Maximum amount of electrolytes and water, about 70-80%, from the glomerular filtrate is
reabsorbed in which part of the nephron?

5. TAAECR thode A goeleised 3R UTel i TR AT, T 70-80%, AWhieT o fohd GEA & Ia: e &
e 82

(2012)

A. Proximal convoluted tubule / THIUTY FATAGR sIfeleh]

B. Ascending limb of loop of Henle / %’HT*T% oq T 3T 3797

C. Descending limb of loop of Henle / gsTel & o9 T 37aRIgT 37T

D. Distal convoluted tubule / G3&Y GATAER ATelehT

6. Which of the following causes an increase in sodium reabsorption in the distal convoluted
tubule?

6. TR H & fohareh HROUT gIEY GATIER #Afeleht 7 TTHA Gersfaeiyor 7 gefer gl &2

(2014)

A. decrease in antidiuretic hormone levels / TEISTIgI e gTHTT & T H T

B. increase in aldosterone levels / TegIERe & FR H defe

C. decrease in aldosterone levels / TeaIECI o TX H HaAT

D. increase in antidiuretic hormone levels / USRI Teeh gTAT & TR 7 g

For More Notes PDF: LearningM antrac.Com


https://www.facebook.com/learningmantrasofficial
https://t.me/LearningMantras

Follow us on Facebook L earm‘ugM antrac.Com Join us on Telegram

7. Typically, human urine is acidic as

7. AR 9T, AT 7T 3ol gIcll § FiTeh

(2015)

A. hydrogen ions are actively secreted into the filtrate / f€de H grsgletet 3T Tfhd T J EAMAT &I 8

B. sodium transporter exchanges one hydrogen ion for each sodium ion, in peritubular capillaries / 3T
ST AR HIAFIHT A Tcdeh AIFSTH 1T o ToIT Ueh GISZIoTeT 3TIeT T TETA-SeTeT HIcT &

C. excreted plasma proteins are acidic / 3caTold CATEAT N FT &l &

D. potassium and sodium exchange generates acidity / 9cfTs 3R TSI TaFateT 3Fedr 3cdesd AT &

8. Part of nephron involved in active reabsorption of sodium is
8. AfSTA & Alsha TA3TTRNYOT H T AThIeT T 19T &

(NEET-II 2016)

A. proximal convoluted tubule / FHITEY HHATICR BIEED

B. distal convoluted tubule / I FHTICR GICED

C. Descending limb of Henle’s loop / gsTel o <hT 37aRIET 3797

D. Bowman’s capsule / a’m?r%\ma\sr

9. Pick the correct statement.

9. TEI YA el |

(NEET 2017)

A. ascending limb of loop of Henle is impermeable to water / 8Tl & oq T 3TRYET 3797 STl & ToIT 31T &

B. descending limb of loop of Henle is impermeable to water / gTel & od =T 3TERIET 39T UTelt & v 31T &

C. ascending limb of loop of Henle is permeable to water / ol & oq =T 3TRIET 3797 STl o folv URIFT §

D. descending limb of loop of Henle is permeable to electrolytes / geTel & T T 37ARIEY 3797 Selarglaised & faT
AT &

10. A decrease in blood pressure/volume will not cause the release of
10. JFTATY/ATAT H HAT A I 19 AT gamm

(NEET 2017)

A. ADH / ADH

B. renin / YfieT

C. atrial natriuretic factor / 37felg ?\'T?SZRQT:F CAREY

D. aldosterone / TeaiEe el

ANSWER KEY
1-A 2-B 3-A 4-C 5-A
6-B 7-A 8- D 9-A 10-C
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Locomotion and Movement

1. The pivot joint between atlas and axis is a type of
1. Ueord 31 3787 & a7 &1 fae Sis R 9 & glar &2
(NEET 2017)

A. fibrous joint / WIER 315

B. synovial joint / 2% ag?cr

C. saddle joint / &sef H’«’fljlﬂ

D. cartilaginous joint / FIf&aforeTa sig

2. This ion is responsible for unmasking of active sites for myosin or cross-bridge activity during
muscle contraction

2. IE A AGARIGT & Fpeel & GRIeT AR AT hid-fost afdfaf® & fow Gfha @ged & =Aanin & fav
SFAeR &

(NEET - 11 2016)

A. Potassium / 9referas

B. Magnesium / #IITAT#

C. Calcium / Hforre

D. Sodium / @f3T#H

3. Lack of relaxation between successive stimuli in sustained muscle contraction is known as
3. TR ARGt & Hepaet 7 shidieh SaoTal3il & o e T el & & & STl ST &

(NEET -1 2016)

A. fatigue / UhleT

B. tonus / &H

C. tetanus / eeaq

D. spasm / U&sT

4. Stimulation of a muscle fiber by a motor neuron occurs at
4. A 7ol SaRT U=l A T IS8T Blell &

(2014)

A. the sarcoplasmic reticulum / HTehfCefSHeh Yo

B. the myofibril / AT hTsrer
C. the transverse tubules / 35 CICEIIY
D. the neuromuscular junction / a-qt\i\IH{—flaod{ ST

5. Pick the correct statement with regards to locomotion in humans

5. AISET H T o HaeT F HET HUeT T T HITTT

(NEET 2013)

A. Accumulation of uric acid crystals in joints causes their inflammation / SISt # IR TS foheed & STAT &l &
3T Folel 31T STl &

B. a decreased level of progesterone causes osteoporosis in old people / WSIECT T HHA TR & oo &
JTTRECIIRITET T HROT §IT &

C. joint between adjacent vertebrae is a fibrous joint / 3TTesT HFHRIAT o ST HI IS Teh WQIGR SIS BT &

D. vertebral column has 10 thoracic vertebrae / F21%eh TAH H 10 T&TTT HFATH 81T &

6. The H-zone in the skeletal muscle fibers is due to
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6. eheprel el 3T H-&17 fehdieh o1 gl 52

(NEET 2013)

A. the central gap between myosin filaments in the A-band / A-88 & AT helHca & &I hg 1T AR

B. absence of myofibrils in the central portion of A-band / A-d8 & FET HIIT H A s 1 JHTT

C. extension of myosin filaments in the centre portion of the A-band / A-S3 & HET HET H AT heaca T
faear

D. central gap between actin filament extending through myosin filaments in the A-band / T-88 & AR
hemaicH & ATegH @ thel vfFest fharde & @i HarT 3R

7. In humans, during muscle contraction, the
7. AISAT H, Gl Heparel oh ST,

(NEET 2013)

A. actin filaments shorten / Ufdeet el ST

B. A, I and H bands shorten / A, I 3{R H &3 &'er

C. A band remains the same / A §S agI W|aT &

D. sarcomere does not shorten / GIhIHAY BICT Tl gl

8. Pick the correct statement regarding the specific disorder of muscular or skeletal system

8. U2 IT Fchrel dF & fATASE [GPR & T H TET HUA FT I HIfoT

(2012)

A. Gout — inflammation of joints due to extra deposition of calcium / 3¢ - HferrTH & fARFT FTATT & HROT IS
<l FoTel

B. Muscular dystrophy — age-related shortening of muscles / A¥HeR BEgitT - 37 & Tafta Araafat Fr aer glar
C. Osteoporosis — decrease in the bone mass and higher chances of fractures with aging / 3TTEcAIRITAY - gsf3ar
& GSTHTS H AT 3R 37 a1 & AT SharaX Y 3Td HTTAT

D. Myasthenia gravis — an autoimmune disorder which inhibits sliding of myosin filaments / AREAAIT AT - TH
HSSFYT ST St ARNTAT fhelreied & fhdelst & UshclT &

9. This is the correct description of a certain part of a normal human skeleton

9. IE HIATY HATeTd shehlol oh Ueh T T HIIT T Tl [da<oT &

(2010)

A. Glenoid activity is a depression to which the thigh bone articulates / 7el=i1s8 I fafer veh 31a9re § foad Srar &hr
EEICERIRIE

B. flrst vertebra is axis which articulates with the occipital condyles / IgeIT 2% 3787 & SIT TRTRITA %W}ﬁ q SERH
3

C. the gth and 10th pairs of ribs are called the floating ribs / 9df 3iR 10dT S3T Fr gETAAT FT AAT THTAT SHgT SATAT
3

D. Parietal bone and the temporal bone of the skull are joined by fibrous joint / UTTdehT 33T 3R WIS ST IEATAY
533N WER 15 & 5T &

10. This item gives its correct total number

10. IE TSTH 3Tl TEY Hel HEAT AT &

(2007)

A. Amino acids found in proteins — 16 / JEIeT H UTT SATet dTel THIAT 37l — 16
B. Floating ribs in humans — 4 / FI?-IWT H AT g ferdm — 4

C. Cervical vertebrae in humans — 8 / FTSA H TXATSehel HATeh - 8

D. Types of diabetes- 3 / HEHE & ThR- 3
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ANSWER KEY
1-B 2-C 3-C 4-D 5-A
6-D 7-C 8- C 9-D 10-B

Neural Control and Coordination

1. Myelin sheath is produced by

1. ASfoT 71T foraas garT AfAd grarg?

(NEET 2017)

A. Schwann cells and oligodendrocytes / 2aTeT SITIT 3R FifeeNssaEsea
B. osteoclasts and astrocytes / 3fEcalFeEe IR TEgaEcH

C. oligodendrocytes and osteoclasts / 3feRNSsAECH 3R 3TcIFART
D. astrocytes and Schwann cells / T&EGRATSCH 3R Qa7 SIfARTT

2. Good vision depends on an adequate intake of carotene-rich food. Pick the best option from the
following statements

2. 3T TTeC FAET Jeohl AT & GITed Yool TR 38R el § | oo fed wuei & & ded 3o fdehed Io
(NEET 2017)

A. Retinal is a light-absorbing part of all the visual photopigments / Ifeadel THT TT WICIUIHAC FT Th
SeRTer-3TaRN TS e &

B. Retinal is a derivative of vitamin A / YfeaTel faeTfdsT A &1 Yool g

C. Vitamin A derivatives are formed from carotene / ﬁt‘lﬁ?-r AFsRARIRETTTATE

D. Both option B & C / &I« fd&ed B & C

3. Pick the correct statement

3. TET YA ol

(NEET-II 2016)

A. Meissner’s corpuscles are thermoreceptors / HFTX & HIY JARAT §

B. Nociceptors respond to changes in pressure / Nociceptors &aTd H IRdceT &l STaTd &l &

C. Receptors do not produce graded potentials / RETCE afiehet &THT &1 ST 61 il o

D. Photoreceptors in the human eye are depolarized during darkness and become hyperpolarized in response to

the hght stimulus / ARG 3@ H BRIRATET 37N & SR %‘ﬂﬁ?f gl I & 3R ueprer 399er & Sae &7

ERLCIERERERI R I R

4. Destruction of the anterior horn cells of the spinal cord would result in loss of
4. UG T g3 & YdehTol HIIT T HITRAHIHT & 75 glel W I g1 grafy

(2015)

A. voluntary motor impulses / TaTe&e Hle 34T

B. sensory impulses / Td¢T 3TAdT

C. integrating impulses / 3331t ﬁu@wm

For More Notes PDF: LearningM antrac.Com


https://www.facebook.com/learningmantrasofficial
https://t.me/LearningMantras

Follow us on Facebook L earm‘ugM antrac.Com Join us on Telegram

D. commissural impulses / & AFIeT 37T

5. The ‘fovea’ in the mammalian eye is the center of the visual field, where

5. TITURY 3@ & "B T2 &7 &1 g &, STal

(2015)

A. more rods than cones are found / QW 31T &3S U ST g

B. optic nerve leaves the eye / 3iifteah Hﬁlﬂ @ BB g

C. only rods are present / had &5 HTE!\T:T g

D. high density of cones occur but has no rods / %@ T 3T Gelcd gIdT ¢ olTohe] BS oTeT 8l &

6. Injury localized to the hypothalamus would most likely disrupt
6. FISUIAHH I TGS e Fad 31T aiferd g
(2014)
A. regulation of body temperature / QR 3 dTIHTT T ATt

B. short-term memory / 3eUehlioleh T
C. executive functions, such as dec151on making / SIS B, S 0T ofT
D. coordination during locomotion / gX&hd & aRT HaT

7. The most abundant intracellular cation is
7. Sl T AT H SgegoR Ul §

(NEET 2013)

A. Ca++

B. K+

C. Na+

D. H+

8. This part of the human ear plays no role in hearing as such but is otherwise very much required
8. AT 1ol &1 TG TGEAT Golol H 1S 7[RI LT TASMTAT B, bt 32T SHhT S5l ARl Brell &

(2012) >

A. Organ of Corti / T T 3797

B. Eustachian tube / a@f\m?rm

C. Ear ossicles / Wﬁﬁw

D. Vestibular apparatus / d N—cg ol 39T

9. When a neuron is in a resting state, i.e., not conducting any impulse, the axonal membrane is

9. I Uah =gieT IR & AT 7 g &, 314Td, g 1A T Tl 761 AT &, ar 37671 Fieel g &

(2011)

A. impermeable to both Na+ and K+ ions / Na+ 3R K+ 3731 gl & foIvw 31T

B. equally permeable to both Na+ and K+ ions / Na+ 3IR K+ gt 3=t & forT Gl €9 & URey

C. comparatively more permeable to Na+ ions and nearly impermeable to K+ ions / Na+ 3TsiI & forw delellcHes 9
& 311 IRITFT R K+ 31T o ToIT S9ms7eT 31896y

D. comparatively more permeable to K+ ions and nearly impermeable to Na+ ions / K+ 3713« ?%I‘UW &9
& 311 IRITFT 3R Na+ =1 & forw srererer 3msiey

10. In humans, Alzheimer’s disease is associated with the deficiency of
10. HSTT H ICSATSAR AT [Shaeht el & 53T 82
(2009)
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A. dopamine / 3r9TfHeT

B. acetylcholine / TfacSelalanset

C. glutamic acid / Te[eTiAe TS

D. gamma-aminobutyric acid (GABA) / W—Uﬁﬂ’l@%@g

ANSWER KEY
1-A 2-D 3-D 4-A 5-D
6-A 7-B 8- D 9-D 10-B

Chemical Coordination and Integration

1. A hypothalamic hormone, GnRH, needed in reproduction, acts on

T gl @ g@fd, GnRH, Yoiall & foT 31T, 9T 1 T &

(NEET 2017)

A. The anterior pituitary gland and stimulates the secretion of LH and oxytocin / qﬁao‘l?r ﬁE}J{\Eﬁ' Y 3R TerTT
AR 3fferdieif@e & a1 &I 3dfad Xl &

B. posterior pituitary gland and stimulates the secretion of LH and relaxin / 99 fﬁtﬂ\@ I AR vervT 3R
Relfeds & g &I 3dfad T &

C. posterior pituitary gland and stimulates the secretion of oxytocin and FSH / 9T fq@@ff Y 3R AT
3R THTHTT & F1d T 3ATd FAT

D. anterior pituitary gland and stimulates the secretion of LH and FSH / qg:ﬁaﬂ?r ﬁr@\d’r I AR T 3R
THUATT & H1d &l S fold il &

2. Hypersecretion of growth hormone in adults does not cause further increase in height, because
2. JUEH H &I gTAlT & 3iforara & FROT FarS F 3R gy 7 @I &, FifH

(NEET 2017)

A. growth hormone becomes inactive in adults / 3T 7 a’dﬁf E!'I?ﬁ?f GIS: P HEIGIE

B. muscle fiber does not grow in size after birth / 5= & a'ra defrer ?—IT-T PR H AGT d6d &

C. bones lose their sensitivity to growth hormones in adults / EBT?'QT aIEDT A G GIATT b TTcl 9T HAgaT=Merdr
Grearg

D. epiphyseal plates close after adolescence / foh2IRTaTAT & dT¢, T AT Tolc & g1 STTcl &

3. Name a peptide hormone which acts mainly on hepatocytes, adipocytes and enhances cellular
glucose uptake and utilization

3. Ueh UTEI$S GTHTST ohl AT ScTSU St HET &9 § gUCIATSCH, USTIASEH WX R &idl § 3R Aefell Tofehlsl dot 3K
39T T TGIAT §

(NEET-II 2016)

A. Gastrin / 3T&gaT

B. Insuhn/sﬂﬁ?—r

C. Secretm/?ﬂ?ﬁﬂ

D. Glucagon / FefhraTel
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4. A temporary endocrine gland in the human body is
4. AT R H Teh AT HT:F1a AT g

(NEET 2017)

A. Pineal gland / @Yfager afr

B. corpus luteum / &IYH ogfeas

C. corpus allatum / S1IH TeCH

D. corpus cardiacum / 19T HIfSTH

5. The posterior pituitary gland is not a “true” endocrine gland because

5. 92T Fegedy 31 v "Hed" Jid ey 9y 6 ¥ Fifn

(NEET-II 2016)

A. it only stores and releases hormones / Ig hdel gTHleT T TeR R Rellet FaATg

B. it is provided with a duct / Ig Teh 3FC & ATT UGTeT TohdT SITcl 3

C. it secretes enzymes / Ig USTISHI &l ATTAd T &

D. it is under the regulation of the hypothalamus / IJg gudeHd & AT & el &

6. This pair of hormones are not antagonistic (having opposite effects) to each other
6. GTAT T Ig SAIST Teh @R & TaRIelY (Taolier wsira areln) =181 &

(NEET-I 2016)

A. Relaxin — Inhibin / RelfeaeT - safgfear

B. Insulin — Glucagon / $gfeleT - Te[ehIaTa

C. Parathormone — Calcitonin / RT&TATT - eI

D. Aldosterone — Atrial Natriuretic Factor / TesIEeIe - 3Tfele Afea¥fesh therex

7. This hormone is not involved in sugar metabolism
7. g gTATT el TATIaT & A T8l &

(2015)

A. Glucagon / Te[shleTeT

B. Insulin / 3e[ehTdTel

C. Cortisone / HIfea

D. Aldosterone / TeaIEeIeT

8. This hormone, though synthesized elsewhere, is stored and released by the master gland
8. IE AT, gTelifeh Shgl 3R HRATIA BIdT &, A AT SIRT HALI 3N STRY Foham STelm &

(2015)

A. Luteinizing hormone / Fq‘\ﬁ?ngﬁ?maﬂ’fﬂ

B. Antidiuretic hormone / TSI grafe

C. Prolactin / 9reifdrest

D. Melanocyte stimulating hormone / HelTAATSE 3T gTATT

9. Fight-or-flight reactions cause activation of

9. TES-AT-381 Ffaferansit & sror @faor gar g

(2014)

A. the pancreas leading to a reduction in the blood sugar levels / 37331 T AT & TR H FHAT & forw 3mrofr

B. the adrenal medulla, leading to increased secretion of epinephrine and norepinephrine / 3-1@3(_7:%" Ao, o aa
TTehIe 3R ARU BheT &7 919 96 ST &
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C. the kidney, leading to suppression of the renin-angiotensin-aldosterone pathway / 7Ic,

UAT-TTTIERAT- Tt AT & AT & forw 3ol )
D. the parathyroid glands, leading to increased metabolic rate / IRTARRIS ATALT, TSTHH TATT I A A gl &

10. A pregnant female delivers a baby who suffers from stunted growth, mental retardation, low
intelligence

Teh IS ATl Teh o 1 STod Sl & it 3Taee Tdehrd, ATAH Heel, FH Joftr § RS g

(NEET 2013)

A. deficiency of iodine in the diet / 3TER & 3TATE hl AT

B. oversecretion of pars distalis / 9% feEfora &1 3iawdishere

C. low secretion of growth hormone / TS gTAT ol A 1

D. cancer of the thyroid gland / WIES?E 37y 7 AT

ANSWER KEY
1-D 2-D 3- B 4-B 5-A
6-A 7-D 8- B 9-B 10-A

Practice Questions

1. Which of the following cells produces HCL? 1. AT T 7 & i O FHifrr vadwe Fr 3cqreaT
a) Beta cells FLAre?
b) Oxyntic cells a) seT FIfhrT
c) Chief cells YEERGIREEE NG
d) Alpha cells c) HTY FHIfAHIT
d) 3ow AT
2. The gastric juice contains 2. AR T H garg
a) Trypsin, pepsin, lipase a) fefcas, aftqe, asaw
b) Pepsin, lipase, rennin b) afca=, amsus, I
c) Pepsin, amylase, trypsin c) 9fcHsT, TaS IS, fefoaeT
d) Trypsin, pepsin, rennin d) fefcas, aftqe, I
3. Digestion of protein is completed in 3. I T grdel HAQUEATg
a) Stomach a)dc
b) lleum b) sferas
c) Duodenum c) 33NSAH
d) Duodenum and lleum )5’3ﬂ?ﬂﬂ3ﬂ?3ﬁ—l’€m
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4. Enzyme rennin is secreted by
a) Stomach

b) Liver

c) Kidney

d) Pancreas

5. Jaundice is the disorder of
a) Excretory system

b) Digestive system

c) Circulatory system

d) Skin and eyes

6. RBC’s are broken down in abnormally large
amounts in

a) Cirrhosis

b) Viral hepatitis

¢) Hemolytic jaundice

d) Obstructive jaundice

7. When starch is broken down by pancreatic
amylase is formed.

a) Glucose

b) Maltose

c) Peptides

d) Amino acids

8. Which is the readily available source of energy
in the body?

a) Protein

b) Carbohydrates

c) Lipids

d) Vitamins

9. The supporting and nutritive cells found in
brains are

a) Oligodendrocytes

b) Astrocytes

c) Microglia

d) Ependymal cells

10. Which of the following does not act as a
neurotransmitter?

a) Acetylcholine

b) Epinephrine

c) Norepinephrine

d) Cortisone

4. GosH AT EaRT Tfad gxar &
a)dc

b) eax

c) a[ar

EECINE

5. Qiferar

a) 3cholel JUTTelr
YRIEGIGE]

c) AR JoTTelr
d) caar 3R 3

& fahR &

6. TR
ici

a) fafaw

b) AT gucTsied
c) gAIfeifee dferar
d) gfaRred diferar

H AT §9 § 98T AT H

7. SIS 3TATI THTS oISl GaRT T i dlgT ST § al
eI Bl

a) Tefehlet

b) HATee T

c) Ieerssd

d) 311 vfas

8. AR F FST T AT T 3T T hid AT 8?2
a) 9T

b) #refgrsse

c) fafds

d) faerfaa

9. ATETSH H ITS STl dTell HETISF 3R qives FHIfAehre
__ &

a) AfensSgaEscH

b) TFgraTSEH

c) ATShITTerdT

d) T9f3He Fifehre

10. [FFITTET H A el Teh FPUCHAIT & & H
T AT FAT &2

SV M HEREIRIED)

b) TR=thIeT

c) ARIATHT

d) FIfea
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1. is a quick response to the stimuli
that passes the brain.

a) Reflex action

b) Voluntary action

c) Knee jerk

d) Receptors

12. Which among the following is a structural and
functional unit of the nervous system?

a) Neurons

b) Nephron

c) Brain

d) Spinal cord

13. Neurons are absent in
a) Flatworms

b) Prawns

c) Sponges

d) Leech

14. Which type of nervous system is present in
flatworms?

1. ATETSH & TR dTell ST & foT
T calkd afafshar g

a) ufaad fsrar

b) TafTes HIkaTS

C) H&a I SchT

d) R&ceHd

12. AFATIT 7 & i df¥er a7 i Taacas 3R
FATcHS SHIS §2

a) 74

b) S¥%preT

c) ARETsH

d) &g T g3

13, 7 e I B &
a) Folc 13

b)sﬁ?’r

c) ¥9a

EIED

14. 9 HA A Thd Geh T dATFehT oI Hisle 8T &2
a) foaRa affer a7

a) Diffused nervous system b) HEr YhR AT dF
b) Ladder type nervous system C) ThH JHAT dTIPT
c) Circum pharyngeal nervous system d) FarT dfer a7
d) Central nervous system
15. Alzheimer’s disease is associated with 15. 3TealSHAT T T el A ST R
deficiency of a) tRAcSasars
a) Acetlycholine b) SATAHTS
b) Dopamine QECHIGCAYLES
c) Glutamic acid d) AT VAT e TS
d) Gamma aminobutyric acid
ANSWER KEY
1-b 2-b 3-c 4-a 5-b
6-c 7-b 8- b 9-b 10-d
11-a 12- a 13-¢c 14-b 15-a

For More Notes PDF: LearningMantrac.Com



https://www.facebook.com/learningmantrasofficial
https://t.me/LearningMantras

Follow us on Facebook L earm‘ugM antrac.Com Join us on Telegram

Join Our Telegram channels

NEET Biology Physics Chemistry Click Here
JEE Physics Mathematics Click Here
Class 11, 12 NEET & JEE (Chemistry) Click Here
For Free Test Series (NEET/JEE) Click Here
Learning Mantras Telegram Channel Click Here

By Team Learning Mantras

For More Notes PDF: LearningM antrac.Com


https://www.facebook.com/learningmantrasofficial
https://t.me/LearningMantras
https://t.me/+bGmSYoP6F3A4MDZl
https://t.me/+SAD0AaCjchk0MmVl
https://t.me/+1BdPJuGLVzEyYzg1
https://t.me/+V8byqrYkKMk2ZTI1
https://t.me/+V8byqrYkKMk2ZTI1
https://learningmantras.com/

